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INTRODUCTORY MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. NS AT TUE TN ’2"‘//3777 A a1
Candidates should answer in their own words AT TS ©rART I ST N
and adhere to the word limit as practicable. a7 PR
1. Answer any six questions from the following: 2x6=12
TS Q-(ieal =3fo ofvea Tea whes

(a) What is the relationship between total utility and marginal utility?
% Tt @ e Sorarer Wy o F 9

(b) What is budget line?
e’ @A = 9

(c) What is meant by transfer earning of a factor?
TAMICT I O IS F @I 9

(d) Define marginal cost.
2o P e wis |

(e) What is meant by cross price elasticity of demand?
sifRwta wAeifEe Wy FEfogivrel e & @ 9

(f) What is consumer’s surplus?
oo e fF 9

(g) Mention the features of an oligopoly market.

Sfeatieifer Aremica= A Eraf S sl

(h) State the relationship between Average revenue, Marginal revenue and Price
elasticity of demand.

5T oY, 2 I ¢ Bifgwin v fEfemsiTsla w7 Srard I
(i) What is meant by Constant Returns to Scale?

AN T efew Fe70e i[F QIR 2
(j) Distinguish between Gross Profit and Net Profit.

G I 6 B YAFIR Wy #hef o e

(k) State the characteristics of a monopoly market.

«FCHa A el Srad sEn
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(I) What is the shape of average fixed cost curve?

¥ 37 7 @I APl ot 9

2. Answer any fwe questions from the following: 4x2 =8
ferere -t 715 aeis Tag wies

(a) Explain briefly the ‘shut-down point’ in Perfect Competition with the help of a
diagram.

forga e o efsraitor Ae Sesive Iead [/ SRewtst s @t
(b) How can you measure the power of a monopoly firm?
935 Testive AfSHIGR GFeoa! el el wAfwet 34 ¢
(c¢) Describe the assumptions of Marginal Productivity Theory of Distribution.
T IS TeAANTS! SIGR SN STAG! S|

(d) Discuss the factors affecting the price elasticity of demand.

vifzwi wiw et g Ranef wietsa s

3. Answer any three questions from the following: 10x3 =30
=S -l foaft eivsw Ted nhss
(a) What do you mean by income effect and substitution effect? Distinguish between 4+6

‘change in demand’ and ‘change in quantity demanded’.

Y ol 8 SIS e e F QRN ¢ TR sfiew ¢ wikwm s

SRS W AL o el

(b) Discuss the Loanable Fund Theory of Interest. 10
I Rdiaee e w2fie og' b Sl S

(c) Why is the short-run average cost curve of a firm U-shaped? 10
G35 FICR TP G-I @ U- AT 27 (3 9

(d) What are the features of a perfectly competitive market? Discuss the long-run 3+7

equilibrium of a competitive firm.

sif-efsraifFrore e REPel & & ¢ @3 ovg Fiol ARER SR
AN T

(e) What are the characteristics of Indifference Curve? Define an Inferior good. Is 442+4
there any difference between Inferior good and Giffen good?

Fraeere @eim ARgeR & & ¢ 9B v el wie | (92 73 ¢ Picew wiae Wiy
I 2{1<f] ST 2

(f) Explain the relationship between Total Product (TP), Average Product (AP) and 10
Marginal Product (MP) of a firm.

@ FIGR @6 B (TP), 1S Teoine (AP) ¢ 2ifSF 9% Besiwa (MP) -7 W)
SRR I TR
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